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Notes - Section 4.8 Date v Period
Isosceles and Equilateral Triangles

I. Isosceles Triangle.
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THEOREM HYPOTHESIS | CONCLUSION

4-8-1 Isosceles Triangle Theorem A

If two sides of a triangle are ‘:$ S8 = 2T
congruent, then the angles opposite \ B
B C

the sides are congruent.

4-8-2 Converse of Isosceles D

Triangle Theorem b M T
If two angles of a triangle are =» DE=DF
congruent, then the sides opposite

£ F

those angles are congruent.
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Example 2: The length of ¥X'is 20 feet. Explain why the length of YZis the same.
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Example 3: a. Find m<F, " b. Find m £ 6.
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II. Equilateral Triangle \ i i Ty
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Corollary 4-8-3 Equilateral Triangie)
COROLLARY | uypotHesis | concrLusion

If a triangle is equilateral, then it is A
equiangular. LA = /LB = £C
(equilateral & — equiangular A)
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III. Equiangular Triangle 390 hﬂﬁd- ‘*;W ‘hﬁﬁ..fi;
Corollary 4-8-4 Equiangular Triang!e} e
COROLLARY HYPOTHESIS CONCLUSION
If a triangle is equiangular, then it is b
equilateral. / OF =~ DE = FF
(equiangular A — equilateral A)
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Example 4: Find each value.

a. Find x.  ° [ A S # b. Find y.
(2x+32° .
2%+32.=10
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c. Find x. -  d. Find ¥ AT + ‘?‘1 E ‘
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IV. Using Coordinate Proofs with Isosceles and Equilateral Triangles

Example 5: Prove that the segment joining the midpoints of two sides of an isosceles triangle is half the

base.
g Alxzy) plo0) ¢ (4%,0)
Given: In [sosceles AABC, X is the midpoint of A8, and ¥is the midpoint of BIC

Prove: XV_E Bl M\dPO\Y\'\' ot ’AB
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Example 6: What if...? i
Given: The coordinates of isosceles AA4BCare A(Q, 25), B(-2a, 0)amd 7, O):

Xis the midpoint of A8 and Yis the midpoint of AC, Z NS coovd mates (0,0).
Prove: AXYZ is isosceles.
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